

City of Santa Rosa Project Bid Summary

COOPER DRIVE SLOPE

Project Name: STABILIZATION AND DRAINAGE

N AND DRAINAGE Contract No.: C01133

IMPROVEMENTS

Client: CITY OF SANTA ROSA

Project No.: C01133

Bid Opening: 03/05/2019 2:00 PM

Owner:

City of Santa Rosa

Rank	Vendor Number	Business Name	Total Bid Amount	Percent Over Low Bid	Percent Over/Under Estimate
		Engineers Estimate	\$469,770.50		
			_		
1	TBD	REGE CONSTRUCTION, INC	\$543,170.00	0.00%	15.62% OVER ESTIMATE
2	TBD	COASTSIDE CONCRETE	\$575,000.00	5.86%	22.40% OVER ESTIMATE
3	V214813	MICHAEL O'SHAUGHNESSY CONSTRUCTION, INC.	\$578,453.00	6.50%	23.14% OVER ESTIMATE
4	TBD	DIAMOND D CONSTRUCTION, LLC	\$623,980.10	14.88%	32.83% OVER ESTIMATE
5	V002746	OAK GROVE CONSTRUCTION CO., INC.	\$656,403.00	20.85%	39.73% OVER ESTIMATE
6	V006204	TEAM GHILOTTI INC	\$781,327.77	43.85%	66.32% OVER ESTIMATE



City of Santa Rosa Project Bid Abstract

COOPER DRIVE SLOPE

Project Name: STABILIZATION AND DRAINAGE Contract No.: C01133

IMPROVEMENTS
Client: CITY OF SANTA ROSA

Bid Opening: 03/05/2019 2:00 PM

Project No.: C01133
Owner: City of Santa Rosa

2 0	20100 74020				Engineers Estimate		REGE CONSTRUCTION, INC		COASTSIDE CONCRETE		MICHAEL O'SHAUGHNESSY CONSTRUCTION, INC.	
2 0		ltem U		Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	74020	TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$7,860.00	\$7,860.00	\$14,000.00	\$14,000.00
3 10	74020	WATER POLLUTION CONTROL	LS	1	\$5,000.00	\$5,000.00	\$1,125.00	\$1,125.00	\$10,000.00	\$10,000.00	\$1,800.00	\$1,800.00
	60101	CLEARING AND GRUBBING	LS	1	\$30,000.00	\$30,000.00	\$27,000.00	\$27,000.00	\$25,000.00	\$25,000.00	\$65,850.00	\$65,850.00
1	90101	TEMPORARY ACCESS ROAD EXCAVATION (F)	CY	2335	\$12.50	\$29,187.50	\$26.00	\$60,710.00	\$20.00	\$46,700.00	\$21.00	\$49,035.00
5 1	92037	STRUCTURE EXCAVATION (RETAINING WALL) (F)	CY	215	\$15.00	\$3,225.00	\$17.00	\$3,655.00	\$50.00	\$10,750.00	\$33.00	\$7,095.00
1	92037	STRUCTURE BACKFILL (RETAINING WALL) (F)	CY	95	\$50.00	\$4,750.00	\$46.00	\$4,370.00	\$75.00	\$7,125.00	\$54.00	\$5,130.00
5	10065	18" DRILLED PIER	LF	360	\$115.00	\$41,400.00	\$143.00	\$51,480.00	\$50.00	\$18,000.00	\$71.00	\$25,560.00
5	10065	24" DRILLED PIER	LF	105	\$120.00	\$12,600.00	\$175.00	\$18,375.00	\$50.00	\$5,250.00	\$77.00	\$8,085.00
) 1	98100	RE-ESTABLISH EMBANKMENT (F)	CY	720	\$30.00	\$21,600.00	\$31.00	\$22,320.00	\$40.00	\$28,800.00	\$35.00	\$25,200.00
0 0	74023	TEMPORARY EROSION CONTROL	LS	1	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00
1 2	03001	EROSION CONTROL BLANKET	SY	2500	\$6.50	\$16,250.00	\$7.00	\$17,500.00	\$6.00	\$15,000.00	\$4.50	\$11,250.00
2 2	00301	HYDROSEEDING	SY	3720	\$1.50	\$5,580.00	\$1.30	\$4,836.00	\$1.00	\$3,720.00	\$1.00	\$3,720.00
3 2	03021	FIBER ROLL	LF	1217	\$4.00	\$4,868.00	\$5.00	\$6,085.00	\$5.00	\$6,085.00	\$6.00	\$7,302.00
4 2	60201	CLASS 2 AGGREGATE BASE	CY	64	\$70.00	\$4,480.00	\$200.00	\$12,800.00	\$50.00	\$3,200.00	\$88.00	\$5,632.00
15 1	92037	RETAINING WALL (F)	CY	11	\$850.00	\$9,350.00	\$3,500.00	\$38,500.00	\$3,000.00	\$33,000.00	\$2,700.00	\$29,700.00
16 5	10065	18" CONCRETE PIER	CY	24	\$650.00	\$15,600.00	\$435.00	\$10,440.00	\$2,000.00	\$48,000.00	\$1,400.00	\$33,600.00
17 5	10065	24" CONCRETE PIER	CY	12	\$650.00	\$7,800.00	\$385.00	\$4,620.00	\$2,000.00	\$24,000.00	\$1,500.00	\$18,000.00
	990. 1572	12" HDPE PLASTIC STORM DRAIN PIPE	LF	188	\$60.00	\$11,280.00	\$57.00	\$10,716.00	\$155.00	\$29,140.00	\$148.00	\$27,824.00
19 6	341104	15" HDPE PLASTIC STORM DRAIN PIPE	LF	19	\$80.00	\$1,520.00	\$85.00	\$1,615.00	\$250.00	\$4,750.00	\$152.00	\$2,888.00
20 6	641107	18" HDPE PLASTIC STORM DRAIN PIPE	LF	13	\$100.00	\$1,300.00	\$85.00	\$1,105.00	\$300.00	\$3,900.00	\$161.00	\$2,093.00
21 1	50807	STORM DRAIN JUNCTION BOX	EA	3	\$2,500.00	\$7,500.00	\$2,600.00	\$7,800.00	\$5,000.00	\$15,000.00	\$2,800.00	\$8,400.00
22 1	50807	STORM DRAIN FIELD DRAIN	EA	1	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$2,800.00	\$2,800.00
	990. 93917	CONNECT TO EXISTING STORM DRAIN STRUCTURE	EA	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00

24	150807	4" SUBDRAIN	LF	474	\$60.00	\$28,440.00	\$58.00	\$27,492.00	\$100.00	\$47,400.00	\$72.00	\$34,128.00
25	194001	CONCRETE V-DITCH	LF	870	\$70.00	\$60,900.00	\$99.00	\$86,130.00	\$50.00	\$43,500.00	\$60.00	\$52,200.00
	Project: C01133 - COOPER DRIVE SLOPE STABILIZATION AND DRAINAGE IMPROVEMENTS				Engineers Estimate		REGE CONSTRUCTION, INC		COASTSIDE CONCRETE		MICHAEL O'SHAUGHNESSY CONSTRUCTION,	
Line No.	Line No. Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
26	597401	REMOVABLE STEEL BOLLARDS	EA	4	\$1,200.00	\$4,800.00	\$1,100.00	\$4,400.00	\$750.00	\$3,000.00	\$925.00	\$3,700.00
27	800300	CHAIN LINK FENCE	LF	896	\$40.00	\$35,840.00	\$34.00	\$30,464.00	\$45.00	\$40,320.00	\$42.00	\$37,632.00
28	801900	CHAIN LINK GATE	EA	1	\$500.00	\$500.00	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	\$1,275.00	\$1,275.00
29	800707	6' REDWOOD FENCE	LF	724	\$75.00	\$54,300.00	\$68.00	\$49,232.00	\$75.00	\$54,300.00	\$78.50	\$56,834.00
30	800707	6' REDWOOD FENCE WITH METAL POST	LF	120	\$60.00	\$7,200.00	\$80.00	\$9,600.00	\$85.00	\$10,200.00	\$78.50	\$9,420.00
31	150001	STUMP REMOVAL	EA	20	\$500.00	\$10,000.00	\$200.00	\$4,000.00	\$250.00	\$5,000.00	\$850.00	\$17,000.00
32	809800	TREE PROTECTION FENCE	LF	600	\$7.50	\$4,500.00	\$5.00	\$3,000.00	\$10.00	\$6,000.00	\$8.00	\$4,800.00

\$469,770.50

\$543,170.00

15.62%

\$575,000.00

22.40%

\$578,453.00

23.14%

Totals for Project C01133

% of Estimate for Project C01133

	Project: C0	ect: C01133 - COOPER DRIVE SLOPE STABILIZATION AND DRAINAGE IMPROVEMENTS			Engineers Estimate		DIAMOND D CONSTRUCTION, LLC		OAK GROVE CONSTRUCTION CO., INC.		TEAM GHIL	OTTI INC
Line No	. Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price		Unit Price	Total Price
1	120100	TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$22,000.00	\$22,000.00	\$3,330.00	\$3,330.00	\$20,757.00	\$20,757.00
2	074020	WATER POLLUTION CONTROL	LS	1	\$5,000.00	\$5,000.00	\$60,403.00	\$60,403.00	\$962.00	\$962.00	\$677.00	\$677.00
3	160101	CLEARING AND GRUBBING	LS	1	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00	\$55,060.00	\$55,060.00	\$37,007.00	\$37,007.00
4	190101	TEMPORARY ACCESS ROAD EXCAVATION (F)	CY	2335	\$12.50	\$29,187.50	\$15.19	\$35,468.65	\$40.00	\$93,400.00	\$62.00	\$144,770.00
5	192037	STRUCTURE EXCAVATION (RETAINING WALL) (F)	CY	215	\$15.00	\$3,225.00	\$15.63	\$3,360.45	\$33.00	\$7,095.00	\$127.00	\$27,305.00
6	192037	STRUCTURE BACKFILL (RETAINING WALL) (F)	CY	95	\$50.00	\$4,750.00	\$51.62	\$4,903.90	\$81.00	\$7,695.00	\$397.00	\$37,715.00
7	510065	18" DRILLED PIER	LF	360	\$115.00	\$41,400.00	\$30.95	\$11,142.00	\$35.00	\$12,600.00	\$32.00	\$11,520.00
8	510065	24" DRILLED PIER	LF	105	\$120.00	\$12,600.00	\$52.06	\$5,466.30	\$68.00	\$7,140.00	\$33.50	\$3,517.50
9	198100	RE-ESTABLISH EMBANKMENT (F)	CY	720	\$30.00	\$21,600.00	\$49.05	\$35,316.00	\$35.50	\$25,560.00	\$56.00	\$40,320.00
10	074023	TEMPORARY EROSION CONTROL	LS	1	\$15,000.00	\$15,000.00	\$10,310.00	\$10,310.00	\$7,380.00	\$7,380.00	\$13,322.61	\$13,322.61
11	203001	EROSION CONTROL BLANKET	SY	2500	\$6.50	\$16,250.00	\$2.00	\$5,000.00	\$4.20	\$10,500.00	\$6.60	\$16,500.00
12	200301	HYDROSEEDING	SY	3720	\$1.50	\$5,580.00	\$1.61	\$5,989.20	\$1.15	\$4,278.00	\$1.25	\$4,650.00
13	203021	FIBER ROLL	LF	1217	\$4.00	\$4,868.00	\$5.30	\$6,450.10	\$6.00	\$7,302.00	\$5.70	\$6,936.90
14	260201	CLASS 2 AGGREGATE BASE	CY	64	\$70.00	\$4,480.00	\$193.52	\$12,385.28	\$291.00	\$18,624.00	\$120.00	\$7,680.00
15	192037	RETAINING WALL (F)	CY	11	\$850.00	\$9,350.00	\$4,181.82	\$46,000.02	\$3,575.00	\$39,325.00	\$5,027.00	\$55,297.00
16	510065	18" CONCRETE PIER	CY	24	\$650.00	\$15,600.00	\$1,490.46	\$35,771.04	\$1,995.00	\$47,880.00	\$1,757.00	\$42,168.00
17	510065	24" CONCRETE PIER	CY	12	\$650.00	\$7,800.00	\$1,364.67	\$16,376.04	\$1,555.00	\$18,660.00	\$1,347.00	\$16,164.00
18	9990. 01572	12" HDPE PLASTIC STORM DRAIN PIPE	LF	188	\$60.00	\$11,280.00	\$87.29	\$16,410.52	\$109.00	\$20,492.00	\$99.27	\$18,662.76
19	641104	15" HDPE PLASTIC STORM DRAIN PIPE	LF	19	\$80.00	\$1,520.00	\$142.63	\$2,709.97	\$178.00	\$3,382.00	\$137.00	\$2,603.00
20	641107	18" HDPE PLASTIC STORM DRAIN PIPE	LF	13	\$100.00	\$1,300.00	\$209.23	\$2,719.99	\$260.00	\$3,380.00	\$197.00	\$2,561.00
21	150807	STORM DRAIN JUNCTION BOX	EA	3	\$2,500.00	\$7,500.00	\$4,890.00	\$14,670.00	\$3,495.00	\$10,485.00	\$4,107.00	\$12,321.00
22	150807	STORM DRAIN FIELD DRAIN	EA	1	\$3,500.00	\$3,500.00	\$4,765.00	\$4,765.00	\$3,895.00	\$3,895.00	\$4,777.00	\$4,777.00
23	9990. 03917	CONNECT TO EXISTING STORM DRAIN STRUCTURE	EA	1	\$1,500.00	\$1,500.00	\$3,135.00	\$3,135.00	\$2,660.00	\$2,660.00	\$2,117.00	\$2,117.00
24	150807	4" SUBDRAIN	LF	474	\$60.00	\$28,440.00	\$95.48	\$45,257.52	\$104.00	\$49,296.00	\$99.00	\$46,926.00
25	194001	CONCRETE V-DITCH	LF	870	\$70.00	\$60,900.00	\$103.45	\$90,001.50	\$91.50	\$79,605.00	\$85.00	\$73,950.00
26	597401	REMOVABLE STEEL BOLLARDS	EA	4	\$1,200.00	\$4,800.00	\$463.50	\$1,854.00	\$1,170.00	\$4,680.00	\$2,177.00	\$8,708.00
27	800300	CHAIN LINK FENCE	LF	896	\$40.00	\$35,840.00	\$29.02	\$26,001.92	\$28.50	\$25,536.00	\$27.77	\$24,881.92
28	801900	CHAIN LINK GATE	EA	1	\$500.00	\$500.00	\$16.50	\$16.50	\$1,605.00	\$1,605.00	\$1,535.20	\$1,535.20
29	800707	6' REDWOOD FENCE	LF	724	\$75.00	\$54,300.00	\$61.55	\$44,562.20	\$64.00	\$46,336.00	\$77.77	\$56,305.48
30	800707	6' REDWOOD FENCE WITH METAL POST	LF	120	\$60.00	\$7,200.00	\$73.70	\$8,844.00	\$79.50	\$9,540.00	\$72.77	\$8,732.40
31	150001	STUMP REMOVAL	EA	20	\$500.00	\$10,000.00	\$189.00	\$3,780.00	\$956.00	\$19,120.00	\$737.00	\$14,740.00
32	809800	TREE PROTECTION FENCE	LF	600	\$7.50	\$4,500.00	\$4.85	\$2,910.00	\$16.00	\$9,600.00	\$27.00	\$16,200.00
	Totals for Project C01133					\$469,770.50		\$623,980.10		\$656,403.00		\$781,327.77
	% of Estim	ate for Project C01133						32.83%		39.73%		66.32%

I hereby certify that this is an exact reproduction of bids received.